(/) Astrolabe

Box Components
Hallux Valgus 2,7 & 3,5

Box Components Kit
09.50.03.00066

Component Cases

09.50.04.00066
09.50.04.00067







Hallux Valgus



Hallux Valgus 2,7 & 3,5

e

e e e e

00000000
00000000
00000000
00000000
00000000

00000000
00000000
00000000
00000000
00000000

0000000
0006000
0000000
0000000
0000000

N#

(TUTTCTUIEN

REF
15.04.03.27012
15.04.03.27014
15.04.03.27016
15.04.03.27018
15.04.03.27020
15.04.03.27022
15.04.03.27024
15.04.03.27026
15.04.03.35012
15.04.03.35014
15.04.03.35016
15.04.03.35018
15.04.03.35020
15.04.03.35022
15.04.03.35024

15.04.03.35026

DESC
Cortical Screw, Ti, @2.7 x 12mm TX, S/I Extrem
Cortical Screw, Ti, @2.7 x 14mm TX, S/I Extrem
Cortical Screw, Ti, @2.7 x 16mm TX, S/I Extrem
Cortical Screw, Ti, @2.7 x 18mm TX, S/I Extrem
Cortical Screw, Ti, @2.7 x 20mm TX, S/I Extrem
Cortical Screw, Ti, @2.7 x 22mm TX, S/I Extrem
Cortical Screw, Ti, @2.7 x 24mm TX, S/I Extrem
Cortical Screw, Ti, @2.7 x 26mm TX, S/I Extrem
Cortical Screw, Ti, @3.5 x 12mm TX, S/I Extrem
Cortical Screw, Ti, @3.5 x 14mm TX, S/I Extrem
Cortical Screw, Ti, @3.5 x 16mm TX, S/I Extrem
Cortical Screw, Ti, @3.5 x 18mm TX, S/I Extrem
Cortical Screw, Ti, @3.5 x 20mm TX, S/I Extrem
Cortical Screw, Ti, @3.5 x 22mm TX, S/I Extrem
Cortical Screw, Ti, @3.5 x 24mm TX, S/I Extrem

Cortical Screw, Ti, @3.5 x 26mm TX, S/I Extrem

Implant
Case Set

1
3
Implant

Case Set
2




Hallux Valgus 2,7 & 3,5

v (&

*

CCTTTN

Implant Cases Screw Sets

Implant Case Set 1

N#

REF
15.14.03.27012
15.14.03.27014
15.14.03.27016
15.14.03.27018
15.14.03.27020
15.14.03.27022
15.14.03.27024
15.14.03.27026
15.14.03.35012
15.14.03.35014
15.14.03.35016
15.14.03.35018
15.14.03.35020
15.14.03.35022
15.14.03.35024
15.14.03.35026
15.15.03.27008
15.15.03.27010
15.15.03.27012
15.15.03.27014
15.15.03.27016
15.15.03.27018
15.15.03.27020
15.15.03.35008
15.15.03.35010
15.15.03.35012
15.15.03.35014
15.15.03.35016
15.15.03.35018
15.15.03.35020

Implant Case Set 2

DESC
Locking Screw, Ti, @2.7 x 12mm TX, S/I Extrem
Locking Screw, Ti, @#2.7 x 14mm TX, S/I Extrem
Locking Screw, Ti, @2.7 x 16mm TX, S/I Extrem
Locking Screw, Ti, @#2.7 x 18mm TX, S/I Extrem
Locking Screw, Ti, @2.7 x 20mm TX, S/I Extrem
Locking Screw, Ti, §2.7 x 22mm TX, S/I Extrem
Locking Screw, Ti, @2.7 x 24mm TX, S/I Extrem
Locking Screw, Ti, §2.7 x 26mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 12mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 14mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 16mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 18mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 20mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 22mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 24mm TX, S/I Extrem
Locking Screw, Ti, @3.5 x 26mm TX, S/I Extrem
Headless Screw, Ti, @2.7 x 8mm TX, S/I Extrem
Headless Screw, Ti, 2.7 x 10mm TX, S/I Extrem
Headless Screw, Ti, 2.7 x 12mm TX, S/I Extrem
Headless Screw, Ti, 2.7 x 14mm TX, S/I Extrem
Headless Screw, Ti, 2.7 x 16mm TX, S/I Extrem
Headless Screw, Ti, @2.7 x 18mm TX, S/I Extrem
Headless Screw, Ti, 2.7 x 20mm TX, S/I Extrem
Headless Screw, Ti, 33.5 x 8mm TX, S/I Extrem
Headless Screw, Ti, 3.5 x 10mm TX, S/I Extrem
Headless Screw, Ti, 3.5 x 12mm TX, S/I Extrem
Headless Screw, Ti, 3.5 x 14mm TX, S/I Extrem
Headless Screw, Ti, 3.5 x 16mm TX, S/I Extrem
Headless Screw, Ti, 3.5 x 18mm TX, S/I Extrem
Headless Screw, Ti, #3.5 x 20mm TX, S/I Extrem

T e S o O g S N S T Sy S Gy S T S = N = S O o}
OOOOOOOOOOOOOOOOj

v uun o »n  »un o »1 1 L1 o Ln Ln L1 Ln L1 L1 U



Hallux Valgus 2,7 & 3,5

/

m(cS\

(X)) ) LX) () X)) (X

[
LEFT
(]

-

y 8

|

L)

30 >

\ECF)I
o

=/

Q
Q
@
Q@
o

Implant Case

Cmow w w

N#

10

11

12

13

14

15

16

17

18

Set 1

REF

26.26.35.27352

26.26.35.27204

26.26.35.27104

26.26.35.27202

26.26.35.27102

26.26.35.27200

26.26.35.27100

09.05.15.00035

26.26.35.35006

26.26.35.35004

26.26.35.35002

26.26.35.27003

DESC

Lock-Plate, Ti, Hallux Valgus, Sma, O, IE 2,7/3.5

Lock-Plate, Ti, Hallux Valgus, L, Rig, 4, IE 2,7mm

Lock-Plate, Ti, Hallux Valgus, L, Lef, 4, IE 2,7mm

Lock-Plate, Ti, Hallux Valgus, L, Rig, 2, IE 2,7mm

Lock-Plate, Ti, Hallux Valgus, L, Lef, 2, IE 2,7mm

Lock-Plate, Ti, Hallux Valgus, L, Rig, 0, IE 2,7mm

Lock-Plate, Ti, Hallux Valgus, L, Lef, O, IE 2,7mm

Drill Guide Impactor HV - 3,5 Straight

Lock-Plate, Ti, Hallux Valgus, 2P 3P, 6, IE 2,7/3.5

Lock-Plate, Ti, Hallux Valgus, 2P 3P, 4, IE 2,7/3.5

Lock-Plate, Ti, Hallux Valgus, 2P 3P, 2, IE 2,7/3.5

Lock-Plate, Ti, Hallux Valgus, Medium, IE 2,7mm

QrY

2



Hallux Valgus 2,7 & 3,5

Implant Case
Set 2
N# REF DESC QTY
’
“ 19 09.05.15.00000 Drill Guide/Impactor, HV Plate, Small 1
m 20 26.26.35.27002 Lock-Plate, Ti, Hallux Valgus, Small, IE 2,7mm 2
Lock-Plate, Ti, Hallux Valgus, XSmall, 2, IE
am | @ 21 26.26.35.27001 2 7mm 2
m e 2 26.26.35.27000 Lock-Plate, Ti, Hallux Valgus, XSmall, O, IE ’
2,7mm
—
ll 23 09.05.15.00040 Drill Guide/Impactor, HV Plate, 2.7/3.5 Curved 1
@70 o o o ki 26.26.35.27004 Lock-Plate, Ti, Hallux Valgus, Large, IE 2,7mm 1
25 26.26.35.27357 Lock-Plate, Ti, Hallux Valgus, Lar, 7, IE 2,7/3.5 1
@ D> 26 26.26.35.27355 Lock-Plate, Ti, Hallux Valgus, Lar, 5, IE 2,7/3.5 1
27 26.26.35.27353 Lock-Plate, Ti, Hallux Valgus, Lar, 3, IE 2,7/3.5 1

@ JO0 O 28 26.26.35.27350 Lock-Plate, Ti, Hallux Valgus, Lar, 0, IE 2,7/3.5 1 5



Hallux Valgus 2,7 & 3,5

e T ——— _ R

N# REF

——— R ) 09.01.07.20021
e e 30 09.01.07.25021
—_———a 31 09.01.03.20020
—= 32 09.01.03.25020
09.02.01.27010

e e ——e
=——a -~ 33
e —t

34 09.01.20.20015

34 09.01.20.25015

35 09.01.17.20150

35 09.01.17.25150

DESC

Drill Bit @#2.0 x 125mm, S-50, Stryker, B-4.5,
Blue

Drill Bit $2.5 x 125mm, S-50, Stryker, B-4.5,

Yellow

Drill Bit #2.0 x 120mm, S-50, AO, Blue

Drill Bit 2.5 x 120mm, S-50, AO, Yellow

Countersink, @2.7mm, Hallux Valgus, AO

Drill Bit 2in1, #2.0mm, Stop 15mm, 90mm,
Blue

Drill Bit 2in1, #2.5mm, Stop 15mm, 90mm,
Yellow

Graduated Drill Bit 2,0 x 150 mm, AO
Coupling, Blue

Graduated Drill Bit, 2.5 X 150mm, AO
coupling, Yellow

QTY



Hallux Valgus 2,7 & 3,5

o EeTEe————————

-
r

N#

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

REF

09.34.01.00035

09.34.01.00090

09.34.01.02735

09.34.00.20004

09.10.06.00150

09.33.00.27220

09.08.01.00041

09.07.04.08091

09.07.04.10092

09.06.00.46050

09.05.14.03020

09.05.14.03025

09.20.03.00000

09.20.03.00035

09.04.04.12030

09.05.15.02735

09.05.15.00010

09.05.15.00020

Box Instruments

DESC

Preparation Chisel, HV Plate, 3.5

Preparation Chisel, Halux Valgus Plate, 90°

Preparation Chisel, HV Plate, Curved 2.7/3.5

Chisel 200mm, 4x3mm

Plate and Screw Holding Forceps, Angled,
150mm

HAJEK Hammer, 140g, 327 x 220mm

Depth Gauge 40mm, Long

Shaft Screwdriver, TX-8, 90mm, AO, Blue

Shaft Screwdriver, TX-10, 90mm, AO,
Yellow

Drill Sleeve @4.6 x 50mm

Graduated Drill Guide, Threaded, @2,0x
30mm, Blue

Graduated Drill Guide, Threaded, @2,5x
30mm, Yellow

Fixation Wrench, Hallux Valgus Plate

Fixation Wrench, Hallux Valgus Plate 3.5mm

Cannulated Handle, AO, 120mm, Green

Drill Guide/Impactor, HV Plate, Small
2.7/3.5

Drill Guide/Impactor, HV Plate, Medium-
Large

Drill Guide Impactor HV - 2,7 L

QTY



Hallux Valgus 2,7 & 3,5







AST.BOX.025
REV.02
11/2022



